2) Jenny is buying new diamond earrings.
Each week she puts in $45 into a safe that
starts with $500. Write the equation.

Find f(45) = 87575 (2 500+q5<
What does f(45) meaﬁ(p "’l
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3.7 To Function or Not to Function
A Practice Understanding Task

Identify the two variables for each situation and determine which is independent and which

is dependent. Then, determine if the relationship is a function and justify your reasoning.

Independent - x values (DOMAIN)

Dependent — y values (RANGE)

1. Aperson’s name 2. A person's social security
versus their social security number versus thelr name.

Im(t;p/ o | ndep—ssrE

~ nane
Dep - SS¥ "

(>0
NO—> ona no. Wgsqaf 1
has, ol RIS 5y g

3. The cost of gas versus the
amount of gas pumped.

Indop—Cos
bert A g
ons. Amy Rorpd

4, 5. The temperature in degrees
{ (3,6],(4,10),{B,12)} Fahrenheit with respect to the

l“d/z‘al([b " l:.l;r\g:f;—\l:\’m(da\/)
—(p,10) —Temp
Y oxs |Rnc- tin

"hA Dep

distance | days M

6 2
10 4
b 5

q i
No tine-7Z (¢S

7. The area of a circle as it a. o [ )
relates to the radius. A 4

InA-vadivs (
Vep — hrea-

@ &, func-re x

9. The volume of water ina

given cylinder is dependent on

the height of water in cylinder.

Id— haigh-
Tep - Vg)om!@
fnc— | haight

I[o)
[p= \5@2 ZeFambol Dep Aoyl 4+ ’%zns
Tp= ] 3 @ fo MY /1,’
4. Ifx Is a rational number, 15. The national debt with gJ¢4S,

onc— oY | repets
radivs rg)crﬁ%- &
INL Areo-

| Voloma

10. The size of the radius of a 11. Students letter grade

circle dependent on the area. | dep@ndent om the percent

D-Aren el
fune- | Arex only Dq‘gﬁmﬁ’i% ’
o R | B

12. The length of fence needed | 13. The explicit formula for
with respect to the amount of | the recursive situation below:
rectangular area to be f{1) nd

enclosed. 2(9{_:‘_ fln+ =l‘fn@
10 3/7/—{{} 5 [9..
Indl 4epm 2 UG
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then f{x) =1 res
—

If % is an irrational number
then f[x) -—-_g_




Continuous @ discontinuous?

What is the domain (independent)?

(B, -1V E6,S)

What is the range (dependent)?

CLHiv

What is the relative max?

2,4

What is the relative min?
(’ '01 5>

Increasing intervals:

10 (~6-2)
DecrtZ\/sirl]g3inltiilw:\|6:> (’7/ 5)

(2]

L ] . L
2o ® —
TN\
, }(/
5 1el_AHN

Continuous o discontinuous?

What is the domain (independent)?

£1,23..133
What is the range (dependent)?

£ clz34s3

**Function or not a function? Remember, if the X-VALUE repeats, it is NOT A FUNCTION!
These are called mappings — they map one value onto the other
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